Palladseite (Pdy7Se15) Structure:
A17B15_cP64_215_acg2i 12i-001
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Prototype Pdy7Se1s

AFLOW prototype label A17B15_cP64_215_acg2i_2i-001
Mineral name palladseite

ICSD none

Pearson symbol cP64

Space group number 215

Space group symbol P43m

AFLOW prototype command aflow --proto=A17B15_cP64_215_acg2i_£2i-001
—-params=a, T3, T4,Ts5, 25, T, 26, L7, 27, L, 28

Other compounds with this structure
Rhi17515

e (Geller, 1962) determined that Pd;7Sejs could be in space group Pm3m #221, [P43m #215 (this structure), or |P432
#207, and finds that Pm3m gives the best fit to single-crystal X-ray diffraction pattern, even though the fit of the
parameters for the all of the Wyckoff sites could not be converged. We therefore present all three structure possibilities.
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e We shifted the coordinates of (Geller, 1962) to move the Pd-I atom from the center of the cubic cell, Wyckoff position
(1b), to the origin, Wyckoff position (1a).

Simple Cubic primitive vectors

a; = ax
as = ay
ag = az
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = 0 0 (1a) Pd1
B, = sax+sag sa9 + a2 (3¢) Pd II
B; = %al + %ag %afi—i— %ai (3¢) Pd II
By, = %al + %32 %afc + %ay (3¢) Pd II
Bs = T3 a1 axsz X (6f) Sel
Bg = —z3a —ar3zX (6f) Sel
B, = T3 a ar3y (6f) Sel
Bg = —T3ay —ar3y (61) Sel
By = T3 as ax3Z (6f) Sel
Bio = —T3as —ar3Z (6f) Sel
By = r4a1 + 5 as + 5 ag ars X+ 309 + taz (6g) Pd III
Bix = —x4a; + %az + %33 —aryX + %ay—k %ai (6g) Pd III
Bz = %al + 2485 + %ag %ai+ax4y+ %ai (6g) Pd III
By = %al —x4a9 + %ag %ai—amy—i— %ai (6g) Pd II1
By = %al + %ag + x4 a3 %ai—I— %ay—l—amz (6g) Pd III
Big = la;+1a)— a3 lax+Llay—arsz (6g) Pd III
By = Tsay + Tsas + 25 as axsX+arsy + azsz (12i) Pd IV
Bis = —T5a; — Tsaz + 25 as —arsX —arsy +azs 2 (12i) Pd IV
B = —T5a; + r5ax — z5as —arsX +axsy —azsZ (12i) Pd IV
By = Tsa] — Tsag — 25 a3 axsX —arsy —azs 2 (12i) Pd IV
B>y = zsaj + x5 as + x5 a3 azs X+ axsy + axsz (12i) Pd IV
By = Zsa] — Tsas — Ty as azs X — arsy — axs Z (12i) Pd IV
Bos = —Zzs a1 — X5as + Tsag —azs X —axrsy + axs Z (121) Pd IV
Boy = —2zsa; + x5 as — x5 as —azsX+axsy — ars (12i) Pd IV
Bos = Tsay + zsas + x5 as axs X+ azsy + axsz (12i) Pd IV
Bog = —T5a; + z5a9 — Ty as —arsX +azsy — arsz (12i) Pd IV
By = Tsa] — 25a9 — Ty Az axsX —azsy — axsZ (12i) PdIV



Bos = —Tsa] — 25 ag + x5 as = —arsX —az5 y + ars Z (12i) Pd IV
Boy = Tga + Tgas + zg as = axegX +argy + azg 2 (12i) PdV
B3 = —Zga] — Tg Az + 26 a3 = —azgX — axgy + azg Z (12i) PdV
Bs: = —Tg a1 + Te A2 — Z6 A3 = —argX +awey — aze 2 (121) Pd v
B3>, = Tga| — Tg Ay — 26 A3 = axgX —argy — azg 2 (12i) PdV
Bss = Zg a1 + Tgas + g as = azg X+ axgy + axe 2 (12i) PdV
B3y = 26 A] — Lg Ay — Tg A3 = azgX — argy — axg Z (12i) PdV
Bss = —2g a1 — XAz + Tg Az = —azgX — axgy + are z (12i) PdV
B3 = —zg a1 + XTgas — Tg Az = —azg X+ axgy — are Z (12i) PdV
Bs; = Teal + 26 as + Tg as = axegX +azgy + axe (12i) PdV
Bss = —Xga] + 262 — Xg Az = —azrgX + azgy — axg (12i) PdV
B3y = Tga| — 26 Ay — Tg A3 = areX — azgy — axe Z (12i) PdV
By = —Zga] — 26 Az + Tg Az = —axrgX — azg y + aze Z (12i) PdV
Ba = T7a; +x7as + z7as = ax7X+ar7y +azrz (12i) Se II
By = —T7a; — T7as + z7as = —ar7X —ax7y +az;z (12i) Se II
By = —r7a; +x7ay — z7as = —ar7X+arry —azr z (12i) Se II
By = T7a) — T7ag — z7as = ax7X —ar7y —azr 2 (12i) Se I1
By = zZray + x7yas + r7as = azrX +ax7y +ar7z (12i) Se II
By = zra] — xT7ag — Ty as = az7X —ax7y — axy Z (12i) Se II
By = —zra; — x7ag + x7as = —az7X —axry + ary (12i) Se I1
Bis = —zray + x7as — x7 as = —az7 X+ axry — axr7 (12i) Se I1
By = T7ay + zrag + x7as = ar7X +azry + axrr Z (12i) Se I1
Bso = —T7a; + zras — w7 a3 = —ar7X+azry —ar7z (12i) Se II
Bs: = T7a) — zyag — Ty as = ax7X —azy —axr (12i) Se I1
Bs, = —x7a] — 27 as + X7 as = —ax7X—az;y + axr; z (12i) Se 11
Bss = Tga] + rgas + zgas = argX + axgy + azg (12i) Se III
Bsy = —Tga; — rgas + zgas = —arg X —axrgy + azg (12i) Se III
Bss = —xga) + rgas — 23 as = —axrg X+ axgy — azg z (12i) Se 111
Bsg = Tga] — Tg s — zg a3 = axgX —argy — azg (12i) Se 111
By = zga] + xgas + T as = azgX + axgy + arg z (12i) Se II1
Bss = zga] — Tg Ay — Tg a3 = azgX —axrgy — axrg z (12i) Se III
Bso = —zga; — Xg Ag + xg Az = —azg X —axgy + arg (12i) Se 111
Beo = —zga; + xgay — Tgas = —azg X+ axgy — arg z (12i) Se III
Bg1 = Tga] + zgas + wrgas = argX +azgy + arg z (12i) Se III
B2 = —rga] + zgas — rgas = —argX +azgy — argz (12i) Se III
Bgs = Tga] — zg Ay — Ig A3 = axgX —azgy — arg (12i) Se 111
Bgs = —xga] — zgas + Tgas = —argX —azgy + argz (12i) Se III
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